EARAROBEEIERT — 2 N— IBISH —F

20195F4A9H () 1EEHEIR

[l B 378 5 R—#%

‘ [R1%] & ‘ [REBE] — | & (A) 16000 B

[A&E£] 1% :290,000 W ~ 23%:81,000F  37%&:46,000 W  43&:29,000" 5 3&:17,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
i i 47 | KIEHE 1:43.1 1-1-1-1 | 39.4| — 1 517 | SEBZ (BHE)
1 3 JL—hrJL X 56.0 (-) 0 (B) J P N#hf
L:TH ATy h— B:T4—F13x48— Fsbaed
s $ 46 | LIETH 1:43.8 2-2-2-2 [39.9| — 3 495 | NIER (BHE)
255 |VIT>TL R 56.0 3) 1) B
L:NNLTSY B:xUI FE RS
N . SHEA . A — MTEAN (BHE)
szl 7| ve—nve i o4 SHR 1'(?)'] 5-4-4-3 | 40.6 2 (4_819) t%%—
RELFOYY Bkl AT chiisis
; > 5 | HAEBE 1:45.5 6-6-6-5 |40.1| — 4 482 | AEED (BHE)
4lglg|T—tEW 77| 56.0 ) w1y | KL
T4 —=TZAHA BT+ —FT1HF—X 2]
oo N 9 _EaLHE 146. —-7-7- . — BEOXk (BEE)
5 o | PTTA=T N o7 fit 1(466)7 7-7-7-7 | 40.9 7 :1_948) A
a7z BovtEs EUFHT7— L
B 5 | KA 1:47.7 4-55-6 |42.5| — 5 450 | ANER (BEHE)
6l111|7—vLH 252.0 (5) @5 | B x=
R:hE—XTA—F— B:HFI/IINAL FIRFy b T7—L
r— . 55 _ BEES (£5E)
7 4l —5—T1 b i o8 e 1(74{:)7 8-8-8-8 | 41.4 8 ‘2(6)? i
Ly —a-U—=97 B:oxr—5-71)-> R EX
RGN N > R : -3-3- — BEria—A (BEE)
8 NP DE DY > 5| fE 1.(469).0 3-3-3-4 | 44.8 6 (4_820) i
LTANWNGTTFY— BT A K- HREt KMEX7-T
@ 1—F—@&BIEf
13=zr= 3,5,6,1,7,8,2,4
Aol=5r= 3,5,6,7,1,8,2,4
G§a=7r= 3,5,6,7,1,8,2,4
43—+ — 3,5,7,6,8,1,2,4
[ RN
B OB 3 1204 714K 3-5 130H B E 3-5 390M &R 3-5-7 170H
8 B 3 100M 3-7 110M B H 955 380 JEH 3-5-7 610
5 1104 5-7 180M
7 110

ABICOVWTRDTEEERROODE. TR LIV,




